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1. Introduction
During the recent meeting, there are some discussion on MBMS scenarios. Based on the discussion, this contirubion propose channel type misalignment problem and the feasible solution
2. Discussion
According to agreements before, MBMS channel type is indicated from DRNC to SRNC per MBMS service basis and the basis assumption in SRNC is that DRNC transmit the MBMS service as ptm if there is no indication from that the MBMS channel type is ptp. 

In the Fig1, we show a MBMS scenario that causes some misalignment between SRNC and DRNC in MBMS channel type.
At the beginning, UE1 and UE2 is moved from RNC1 to RNC2(DRNC of UE1 and UE2) and their SRNC is RNC1. After UE1 and UE2 is moved to DRNC, if RNC2 receive session start from CN and decide channel type as ptp or change channel type from ptm to ptp, RNC2 send channel type indication to RNC1 because SRNC of UE1 and UE2 is only RNC1. After receiving the indication from RNC2, RNC1 can know the channel type of the MBMS is ptp in RNC2. So, UE1 and UE2 can receive that MBMS service as ptp from RNC1(SRNC of UE1 and UE2). 
If another UE, UE3 is moved from RNC1 to RNC2, SRNC of UE3 is RNC1 and DRNC.of UE3 is RNC2. After UE3 is moved to RNC2, RNC2 dosen’t notify RNC1 of channel type if there is no change in channel type.(In this scenario, we assume that the channel type is not changed from ptp) RNC1 already know the channel type of the MBMS is ptp. So, UE3 can receive that MBMS service as ptp from RNC1(SRNC of UE3). 
However, if UE4 is moved from RNC3 to RNC2, its SRNC is RNC3 and DRNC is RNC2 also. After UE4 is moved to RNC2, RNC2 dosen’t send channel type to RNC3 if there is no change in channel type. In this time, because there is no indication from RNC2 that the channel type is ptp before, RNC3 assume the channel type of the MBMS in RNC2 as ptm,. So, RNC3 dosen’t provide the MBMS service to UE4 as ptp.
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Fig 1. MBMS mobility scenario

In the above case, problem is caused by the fact that the channel type indication is based on the each MBMS service. That means the channel type indication just consider the event of channel type change and doesn’t consider the notification of channel type itself. 
In this case, UE can know that it is possible to receive the MBMS service as ptp in its cell, but there is no other action that UE can do. So, it is reasonable for UE to send the indication or request to SRNC
2. Proposal
According to the above discussion, we propose to consider that for the purpose of eliminating the error from the channel type misalignment, the UE send an indication of channel type to SRNC for notification. In this case, because the only indicating of ptp channel type is enough, the notification can be used for UE to send service request to SRNC actively. The detailed criteria for initiating the indication is FFS.
3. Conclusion

In this contribution, we propose the UE based indication be used for enhanced operation. In discussing the MBMS scenario, the proposal should be taken into account. If we have any conclusion, LG is willing to prepare relevant CR.
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